—{ emisE EAtRBATLOHERMETER —

(M7 FEREFE) XTEFOBRTEEILLRBIILEHYET,
= i F | dbds | BN | A | B

i

O: FfE x:BHKhH

mi| M

S
m| &

i

L= 17 =
128
19H
26H
10H
178
2 4R
7H
148
21H
2 8H
5H
12H
1 ZHAEE
6 H
9( 138
Al 208
27H
47
10 117
Al 188
25H
ul T
RIT3g
12 6 H
Bl 13H
2 H AR
1 108
178
240
7H
2|1 148
B| 21H
2 8H
3R 7H
3FHAAE
ERIEE 30J28(31 29(30]30[31
KERERREIZIF~1 2K CEfE - RRfTUPFHYORELEARET, )
X TFRICTRT DIZAERHE 4 R
= | Nl = TN BE) - BE - R
B E |[voTsAnzy| 9K~ 95109 - 1005~108510%) - 11K~11K510%)

*AEEIIERELVOTHANET,

M TFEbRITE

o o|lao s

I o

~

O[OJO[O]O] x|O]O[OJO[O[Ofro| it m =

O[OJO[O] O] xJO]OJOJO[O|Ofro| it m =
O[O x [O]|OJO|Of x |OJOO| OO S| O] OO OO x| x | O|OJO[O|Ofro| 8 =t 3*

O[O]O[O] O] x|O]OlOJO|O|Of w| & =t 3*

an

—
—
—
—
—
—

it TRAEBERERE
A ERELYHRESS, FH DO YHEESS
- B EHe

O[O} x [O]OJO|Of X |OJO] O] OO S| O] OO O] O] x| x |O[O]JO[O|Ofro | it i =
O[OJO[O] OO x [ x OO O] OO S| O] OO O O] OJO|OOJO[O|Of o | 3 mt 3¢
O[OJO[O]OJO| x [ x OO O] OO S| O]OJO] O O] OJO|O[OJO[O|Ofro | it i =

O[OJO[ O] xJO|O[O] x|O|1O[O]O

O[OJO[O] xJO|O[O] xJOO[O]O
| X]O[O] OO O] O] OS] O] OO O] O] Of x | O] OJO] O] OO o | O] OJO| OO x |JO|O[O]O] x| O | 8w 3

—
—
—
—
[EN
—
—
—
[EN
—
—
—

b FERER, B AF-F 7R B I EEBHTE S DRER
HBRE - R

x| x [O]O[OJO[O| OS] O OO O O O] x | O] OO O] O O 5| O] O] O] O O] OJO| O O]O|O|Of w| & =t 3*
| x]O]O]O]OJO] O] Ol 5] O]OO] O] OfO| x | O] OJ O[O O[O S|O[ OO O[O OJO[ O[O} O[O Of o [ 1t ¢ | =

x| x[O]O[O]O[O|O
x|O[O]O[O]O[O|O

OJO|O]O]OJO[O]O
o] X x[O]O[O]O[O]O

o] OJO| O] O[OJOJO| OS] O OO O] OO X |O[OJO|O O[O

o] OJO]O]O[OJO|O|O
~|O x[O]O]OJOJO|O

N
(ee] Ko2)
N
ool
N
(o] ko)
w
([e] ko))




